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QUESTION 1
Consider the device-mapper-multipath package and configuration. Which statement is true?
A. letc/multipath.conf is created by the package installation process.

B. /etc/multipath.conf must be created after installation by an administrator by copying from /usr/share/ doc/device-
mapper-multipath-/.

C. mpathconf can modify the operating behavior of multipathing and persistent changes to the configuration file.

D. The multipath command can modify the multipath service run-level configuration and persistent changes to the
configuration file.

Correct Answer: D

QUESTION 2

What is the purpose of the in-addr.arpa domain that is used in a zone file for DNS name resolution in Oracle Linux?
A. to implement reverse name resolution for IPv4

B. to resolve nameserver names in the in-addr.arpa top-level domain

C. to implement reverse name resolution for IPv6

D. to resolve host names in the in-addr.arpa top-level domain

Correct Answer: C

Reference: https://docs.oracle.com/cd/E19683-01/817-4843/dnsintro-94/index.html

QUESTION 3

Examine the virt-install command.

# virt-install \

--connect gemu:///system \

--virt-type kvm \

-- name test \

-- ram 500 \

--disk path =/var/lib/libvirt/images/test.img, size=4

--cdrom /home/user01/DownlLoads/OracleLinux-R6-U5-Server-x86_64-dvd.iso \

--0s-variant oe16
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Which two statements are true?

A. The --connect option specifies the credentials for the hypervisor to use.

B. The --name option specifies the name of the new guest virtual machine instance.

C. The --ram option specifies the memory to allocate for a guest instance in MB.

D. The --virtype option specifies that only the keyboard, video, and mouse are fully virtualized.

E. The --disk option specifies the media to use as storage for the guest. The size of the storage will be 4 GB.

Correct Answer: AB

QUESTION 4

Which two statements are true about the configuration of kdump for capturing a dump image after a kernel crash?
A. kdump uses kexec to reboot the failed kernel and then captures a dump image.

B. The crashkernel boot parameter must be added to the kernel line in the /boot/grub.conf file to enable kdump.
C. The memory used for crashkernel is always at the same physical address.

D. kdump requires no parameters because it is enabled by default.

E. kdump uses kexec to boot a second kernel, which then captures a dump image.

Correct Answer:. AB

QUESTION 5

Examine the parameters shown using the sysctl command relating to panic situations: [root@WAYOUT etc]# sysctl ?
|grep panic |grep -v hung kernel.panic = 0 kernel.panic_on_oops = 0 kernel.softlockup_panic = 0
kernel.unknown_nmi_panic = 0 kernel.panic_on_unrecovered_nmi = 0 kernel.panic_on_io_nmi=0
kernel.panic_on_oom = 2 [root@WAYOUT etc]# sysctl ? |grep hung

kernel.hung_task_panic = 0 kernel.hung_task_chek_count 74194304 kernel.hung_task_timeout_secs = 120
kernel.hung_task_warnings = 10

Which two statements are true about system behavior?

A. The kernel delays panic for a few seconds if a bug is encountered to allow the klogd kernel logging daemon to log the
oops output.

B. The kernel panics if a kernel thread sleeps in the TASK_UNINTERRUPTABLE state for more than 120 seconds.
C. The kernel attempts to continue if a bug is encountered.
D. The kernel always panics if an out-of-memory condition arises.

E. The kernel tries to kill some memory-consuming processes to avoid a panic if an out-of- memory condition arises.
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F. The kernel panics if a user thread sleeps in the TASK_UNINTERRUPTABLE state for more than 120 seconds.

Correct Answer: BF
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